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A. Fill in the blanks. 

1. 

i 2. 

3. 

4. 

2100 

1. 

Th H T 

3 4 5 

273 

(po in (opy) 
+I|- 1340 

a. 70. 
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140 
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B. Tick () the correct option. 

C. Fill in the 

+ 

+ 

3 hundreds + 27 tens = S0 

a. 327 

8444 

2. 8450 + 550 = 550 + B4 50 

a. 550 

5tens = 50 

b. 273 

Th H TO 

b. 8450 

3. The estimated sum of 45)and 69 is 
b. 80. 

1. 6000 + 20 > 690 
6020 

a. 120, 119. Vb. 110, 119. 

157 

with >, < or =. 

3. 8999 +00+9998 

C. 9000 

c. 90. 

c. 57 hundred 
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c. 130, 119. 

4. The estimated sum and actual sum of(62) and 57 are respectively tan 

T000 

Th H TO 

Do n Cof 

4 
Th H T 

d. 570 

o 

d. 1100 

d. 100. 

d. 119, 100. 

4. 999 + 1 = smallest 4-digit number 

2, 4100 + 8 tens 4 thousand + 1 hundred 
4i00+ 8D -41601 4 000t 100-[4100 

I000 

247S 

420 o 

43t 

62 

33 
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